
    

 
 

bf];|f] PsfO k/LIff–@)&( 

ljifo M ;fdflhs cWoog tyf hLjgf]kof]uL lzIff -))^!_ 

sIff M !@    k"0ff{ª\s M @) 

;do M $) ldg]6     pQL0ff{ª\s M )* 

;]6 M s -laxfgL ;q_ 

 

clt 5f]6f] pQ/ cfpg] k|Zgx¿ M            @ × ! Ö @ 

!=  hol:ylt dNn / /fhf dlxGb| dNnaf6 jt{dfgsf /fHo ;~rfnsx¿n] s] 

s] /fd|f s'/f l;Sg'k5{ < Ps Ps pbfx/0f lbg'xf];\ . 

@= hª\uaxfb'/n] cfkm\g} g]t[Tjdf ef/tdf a]nfot lj?¢sf] l;kfxL ljb|f]x 

bafP/ cª\u|]hnfO{ v';L kf/]jfkt lkmtf{ ePsf t/fOsf rf/ lhNnfx¿sf] 

gfd n]Vg'xf];\ . 

5f]6f] pQ/ cfpg] k|Zgx¿ M           @ × % Ö !) 

#=  g]kfndf k|hftGqsf nflu w]/} k6s cfGbf]ngx¿ eP . k|To]s cfGbf]ngsf 

pknlAwx¿nfO{ hf]ufpg g;Sbf csf]{ cfGbf]ng ug'{kg]{ cj:yf cfPsf] 

ljutsf] Oltxf;n] b]vfpF5 . casf lbgdf csf]{ cfGbf]ng ug'{ gkg]{ 

cj:yf l;h{gf ug{ s] ug'{knf{ < kfFr ;'emfj lbg'xf];\ . 

 

$= dNnsfnLg cfly{s cj:yfsf] rrf{ ub}{ jt{dfgdf g]kfnn] cfkm\gf] cfly{s 

cj:yf ;'wf/ ug{ s] s] ug'{knf{ < cfˆgf] wf/0ff k|:t't ug'{xf];\ . 

nfdf] pQ/ cfpg] k|Zg M            ! × * Ö * 

%=  tkfOF{sf] ljrf/df nfu]sf g]kfnsf] k|frLg Oltxf;sf dxTjk"0f{ kIfx¿ 

a'Fbfut ¿kdf n]Vg'xf];\ .   

*** 

 

   

 
 

bf];|f] PsfO k/LIff–@)&( 

ljifo M ;fdflhs cWoog tyf hLjgf]kof]uL lzIff -))^!_ 

sIff M !@    k"0ff{ª\s M @) 

;do M $) ldg]6     pQL0ff{ª\s M )* 

;]6 M v -laxfgL ;q_ 

 

clt 5f]6f] pQ/ cfpg] k|Zgx¿ M            @ × ! Ö @ 

!= ls/ft sfnsf af/]df w]/} hfgsf/L k|fKt ug{ ;lsPsf 5}g . xfd|f] 

Oltxf;nfO{ hLjGt agfO/fVg xfdLn] s] s] ug{'knf{ < s'g} Ps sf/0f 

lbg'xf];\ . 

@= g]kfndf sfg'gL zf;g k4ltsf] ;'?cft ePklg ;jf]{Rr cbfntn] 

lbPsf] Gofok|lt klg lrQ ga'em] >L % df laGtLkq xfNg kfpg] / 

;jf]{Rr cbfntsf] lg0f{o ab/ x'g;Sg] Joj:yf slxn];Dd k|rngdf 

/x]sf] kfOG5 < / lsg o:tf] Joj:yf nfu' ul/Psf] xf]nf < Ps jfSodf 

n]Vg'xf];\ . 
 

5f]6f] pQ/ cfpg] k|Zgx¿ M           @ × % Ö !) 

#= lnR5ljsfnLg cfly{s, ;fdflhs / k|zf;lgs cj:yf / xfnsf] 

cj:yfsf] t'ngfTds cWoog u/L Ps k|ltj]bg tof/ kfg'{xf];\ . 

$= cfw'lgs sfnsf] cy{tGqsf d'Vo d'Vo ultljlwx¿ ;DaGwdf 

;dLIffTds l6Kk0fL ug'{xf];\ . 

nfdf] pQ/ cfpg] k|Zg M            ! × * Ö * 

%= dWosfndf g]kfn sf7df8f}F pkTosfdf tLg 6'qmfdf lyof] . o;afx]s 

u08sL If]qdf @$ /fHo, sgf{nL If]qdf @@ /fHo / dWo / k"j{tkm{ 

tLgcf]6f /fHo lyP . of] ;ª\Vof 36a9 eO/xGYof] . oL /fHox¿cGtu{t 

;of}F ;;fgf ufpFn] /hf}6fx¿ klg lyP . o;/L ;;fgf /fHosf] pbo / 

ktgsf sf/0fx¿ af/] JofVof ug'{xf];\ . 

*** 



 
 

bf];|f] PsfO k/LIff–@)&( 

ljifo M ;fdflhs cWoog tyf hLjgf]kof]uL lzIff -))^!_ 

sIff M !@    k"0ff{ª\s M @) 

;do M $) ldg]6     pQL0ff{ª\s M )* 

;]6 M s -lbjf ;q_ 

 

clt 5f]6f] pQ/ cfpg] k|Zgx¿ M            @ × ! Ö @ 

!=  dWosfnLg /fhgLlts Joj:yfaf6 jt{dfgsf /fHo ;~rfnsx¿n] s] s] 

/fd|f s'/f l;Sg'k5{ < Ps Ps pbfx/0f lbg'xf];\ . 

@= /f0ffsfndf ePsf s'g} b'O{ sfg'gL ;'wf/sf sfo{x¿ n]Vg'xf];\ . 

5f]6f] pQ/ cfpg] k|Zgx¿ M           @ × % Ö !) 

#= dNnsfnLg cfly{s cj:yfsf] rrf{ ub}{ jt{dfgdf g]kfnn] cfkm\gf] cfly{s 

cj:yf ;'wf/ ug{ s] s] ug'{knf{ < cfˆgf] wf/0ff k|:t't ug'{xf];\ . 

$= g]kfnL ;+:s[ltdf cfPsf] abnfj / o;sf] ;'wf/sf nflu ePsf k|of;x¿ 

;DaGwL Ps k|ltj]bg tof/ kfg'{xf];\ . 

nfdf] pQ/ cfpg] k|Zg M            ! × * Ö * 

%=  g]kfnsf] cfw'lgs sfnsf] cy{tGq, sfg'g, ;+:s[lt / snfsf}zn zLif{sdf 

n]v tof/ kfg'{xf];\ . 

*** 

 

 

 

 

 
 

bf];|f] PsfO k/LIff–@)&( 

ljifo M ;fdflhs cWoog tyf hLjgf]kof]uL lzIff -))^!_ 

sIff M !@    k"0ff{ª\s M @) 

;do M $) ldg]6     pQL0ff{ª\s M )* 

;]6 M v -lbjf ;q_ 

 

clt 5f]6f] pQ/ cfpg] k|Zgx¿ M            @ × ! Ö @ 

!= s0ff{nL k|b]zdf afO;] /fHosf] pbo s;/L eof] < Ps jfSodf n]Vg'xf];\ . 

@= g]kfnsf] Oltxf;df axfb'/ zfxsf s'g} b'O{ of]ubfgx¿ n]Vg'xf];\ . 

5f]6f] pQ/ cfpg] k|Zgx¿ M           @ × % Ö !) 

#= g]]kfnsf] cfw'lgs sfnsf] /fhgLlts Oltx;sf ;sf/fTds / gsf/fTds 

cj:yfnfO{ ;d]6L Ps ;DkfbsLo tof/ kfg'{xf]; . 

$= Oltxf;sf ljleGg sfnv08df krf;f}F 6'qmfdf ljeflht g]kfnnfO{ 

PsLs/0f ug{ / To;nfO{ l;ª\uf] ¿kdf l6sfO/fVg xfd|f k'vf{n] slt 

ldlxg]t ug'{k¥of] xf]nf < u/L b'O{ ;fyL larsf] ;+jfb tof/ kfg'{xf];\ . 

nfdf] pQ/ cfpg] k|Zg M            ! × * Ö * 

%= uf]kfn, dlxifkfn / ls/ftsfnsf] cfly{s ;fdflhs cj:yfsf] af/]df 

JofVof ug'{xf];\ . 

*** 

 



 
 

 
 

Second Unit Test-2079 
 

Grade: XII           Subject: Hotel Management (Sub. Code:4401)    F.M.: 20 

Time: 40 minutes                                                                                P.M.: 8 

Set-A 
 

 

Candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks. 
 

Section: A 

Write Very short answer to the following Questions.             2 x 1 = 2 

 
1. Define fermentation. 

2. Define Briefing. 

 

Section: B 

Write Short answer to the following Questions.            2 x 5 = 10 

 
3. Differentiate between American service and Silver Service. 

4. Define Bill with its clean format. 

 

Section: C 

Write Long answer to the following Questions.              1 x 8 = 8 

 
5. Define menu. List the courses in French classical menu with at least one 

example for each course. 

 
****** 

 
 
 
 
 
 
 
 
 

 
 

 
 

Second Unit Test-2079 
 

Grade: XII           Subject: Hotel Management (Sub. Code:4401)    F.M.: 20 

Time: 40 minutes                                                                                P.M.: 8 

Set-B 
 

 

Candidates are required to give their answers in their own words as far as 

practicable. The figures in the margin indicate full marks. 
 

Section: A 

Write Very short answer to the following Questions.             2 x 1 = 2 

 
1. Define Distillation. 

2. Define mise-en-scene. 

 

Section: B 

Write Short answer to the following Questions.            2 x 5 = 10 

 
3. Differentiate between A la carte and Table d’hote menu. 

4. Define KOT / BOT with its clean format. 

 

Section: C 

Write Long answer to the following Questions.              1 x 8 = 8 

 
5. Explain various types of services practice in food and beverage outlets. 

 
****** 

 
 
 
 
 
 



 

 

 
 

 
 

Second Unit Test-2079 
 

Grade: XII             Subject: Business Studies (Sub. Code: 2161)  F.M.: 20 

Time: 40 minutes                                                                                        P.M.: 8 

Set-A (Morning Shift) 
 

 

 

Long Answer question:  (2 x 8 = 16) 
 

1. Define centralization. Explain the arguments for and against centralization. 

          (1+4+3) 

2. Explain autocratic leadership style with its merits and demerits.      (1+4+3) 

 

Very short question:                         (4 x 1 = 4) 

3. What is laissez faire leadership style? 

4. State any two differences between delegation and decentralization of 

authority. 

5. Mention any 4 managerial qualities of a leader. 

6. What is exception principle in organizing? 
  

*** 
 

 

 
 

 
 

Second Unit Test-2079 
 

Grade: XII             Subject: Business Studies (Sub. Code: 2161)  F.M.: 20 

Time: 40 minutes                                                                                        P.M.: 8 

Set-B (Morning Shift) 
 
 

 

Long Answer question:  (2 x 8 = 16) 
 

1. Explain democratic leadership style with its merits and demerits.   (1+4+3) 

2. Define decentralization. Explain the arguments for and against 

decentralization.         (1+4+3) 

Very short question:                         (4 x 1 = 4) 

3. State any two differences between autocratic and democratic leadership 

style. 

4. What is Free Rein leadership style? 

5. Mention any 4 methods of Departmentation. 

6. What is span of control?  
 

*** 

 
 

 
 

Second Unit Test-2079 
 

Grade: XII             Subject: Business Studies (Sub. Code: 2161)  F.M.: 20 

Time: 40 minutes                                                                                        P.M.: 8 

Set-A (Day Shift) 
 

 

 

Long Answer question:  (2 x 8 = 16) 
 

1. Define departmentalization. Explain any 3 methods of departmentalization.  

(1+7) 

2. Explain the functions or roles of a managerial leader.             (8) 

 

Very short question:                         (4 x 1 = 4) 

3. What is decentralization of authority? 

4. State any two differences between delegation and decentralization. 

5. State any 4 features of Free Rein leadership style. 

6. What is one way communication? 

  

*** 

 

 
 

 
 

Second Unit Test-2079 
 

Grade: XII             Subject: Business Studies (Sub. Code: 2161)  F.M.: 20 

Time: 40 minutes                                                                                        P.M.: 8 

Set-B (Day Shift) 
 
 

 

Long Answer question:  (2 x 8 = 16) 
 

1. Explain the drivers of organizing showing the features.             (8) 

2. Explain the personal and managerial qualities of a leader.        (4+4) 

 

Very short question:                         (4 x 1 = 4) 

3. What is centralization of authority? 

4. State any 2 differences between democratic and autocratic leadership style. 

5. State any 4 principles of organizing. 

6. What is two way communication? 

 

*** 



 
 

  Second Unit Test-2079 
 

Grade: XII            Subject: Business Mathematics (Sub. Code: 4061)  F.M.: 20 

Time: 40 minutes                                                                                        P.M.: 8 

Set-A (Morning Shift) 

 

Attempt all questions       
 

1. Evaluate: ∫ (2𝑥 + 3)√𝑥2 + 3𝑥 + 5  𝑑𝑥
1

0
            [3] 

 

2. Find the area bounded by 𝑦 = 3𝑥2 + 4𝑥 + 2,  the x-axis and 

ordinates x = 0 and x = 2.                       [3] 
 

3. The marginal cost function of a firm be Q2 + Q + 2, where Q is the 

output. Find the total cost function and average cost function when 

fixed cost is Rs.50.                                            [3] 
 

4. Find the general and particular solution of the differential equation  

𝑦′ + 𝑦 = 0, 𝑦(0) = 2                                   [3] 
 

5. If income per capita is growing at a constant rate of 5%, how long will 

it take to double? (By using differential equation).                  [3] 
 

6. If the demand and supply functions are given by 𝑃𝑑 = 20 − 5𝑥 

𝑎𝑛𝑑 𝑝𝑠 = 4𝑥 + 8 respectively, obtain producer’s surplus an 

consumer’s surplus under pure competition.            [5] 
 

 
 

***** 

 

 

 

 

 

 

 

 
 

  Second Unit Test-2079 
 

Grade: XII            Subject: Business Mathematics (Sub. Code: 4061)  F.M.: 20 

Time: 40 minutes                                                                                        P.M.: 8 

Set-B (Morning Shift) 

 

Attempt all questions       
 

1. Evaluate: ∫ 𝑥3√2 + 3𝑥4  𝑑𝑥
1

0
                       [3] 

 

2. Find the area bounded by 𝑦 = 𝑥2 − 2𝑥 − 3,  the x-axis and 

ordinates x = 0 and x = 3.                       [3] 
 

3. The marginal cost function of manufacturing x shoes is 

  6 + 10𝑥 − 6𝑥2. The total cost producing a pair of shoes is Rs.12. 

Find the total and average cost function.                            [3] 
 

4. Find the general and particular solutions of the differential equation 

𝑦′ − 2𝑦 = 0, 𝑦(0) = 9                                  [3] 
 

5. If income per capita is growing at a constant rate of 3%, how long will 

it take to double? (By using differential equation).                  [3] 
 

6. If the demand and supply functions are given by 𝑃𝑑 = 20 − 3𝑥 

 𝑎𝑛𝑑 𝑝𝑠 = 2𝑥. Find the consumer’s surplus and producer’s surplus 

under pure competition.                       [5] 
 

 
 

***** 

 

 

 

 

 

 



 
 

  Second Unit Test-2079 
 

Grade: XII            Subject: Business Mathematics (Sub. Code: 4061)  F.M.: 20 

Time: 40 minutes                                                                                        P.M.: 8 

Set-A (Day Shift) 

 

Attempt all questions       
 

1. Evaluate: ∫
1

𝑥(𝑙𝑛𝑥)2
 𝑑𝑥

𝑒

2
                       [3] 

 

2. Find the area bounded by 𝑦2 = 4𝑎𝑥 , the x-axis and ordinates x = 0 

and x = a.                                  [3] 
 

3. Find the total revenue function and demand function when the 

marginal revenue function for output x is 𝑀𝑅 = 𝑥3 − 3𝑥2 − 4𝑥 − 2
                                              [3] 
 

4. Solve:   𝑦′ + 𝑦 = 4, 𝑦(0) = 0                                           [3] 
 

5. If income per capita is growing at a constant rate of 10%, how long 

will it take to double? (By using differential equation).                  [3] 
 

6. The demand and supply functions for a good are given by  

 Demand function,  𝑃 = 20 − 5𝑥  

 Supply function,  𝑃 = 4 + 3𝑥  

 Find the consumer surplus and producer surplus at equilibrium.         [5] 

 

 
 

***** 

 

 

 

 

 

 
 

  Second Unit Test-2079 
 

Grade: XII            Subject: Business Mathematics (Sub. Code: 4061)  F.M.: 20 

Time: 40 minutes                                                                                        P.M.: 8 

Set-B (Day Shift) 

 

Attempt all questions       
 

1. Evaluate: ∫
(2+𝑙𝑛𝑥)3

𝑥
 𝑑𝑥

𝑒

1
                       [3] 

 

2. Find the area bounded by 3𝑥2 = 4𝑏𝑦 , the x-axis and ordinates x = 0 

and x = b.                                 [3] 
 

3. The marginal revenue function is  4 − 8𝑥 − 3𝑥2, 𝑥 being the output. 

Find the total revenue function, if for 3 unit of production, total 

revenue is 100.                                 [3] 
 

4. Solve:   𝑦′ = 7𝑦 + 7;   𝑦(0) = 7                                 [3] 
 

5. If income per capita is growing at a constant rate of 4%, how long will 

it take to double? (By using differential equation).                  [3] 
 

6. The demand and supply functions for a good are given by  

 Demand function,  𝑃 = 58 − 0.2𝑄  

 Supply function,  𝑃 = 4 + 0.1𝑄  

 Calculate the consumer surplus and producer surplus at equilibrium.  

        [5] 

 

 
 

***** 

 

 



 
 

 
 

Second Unit Test - 2079 
 

Grade: XII            Subject: Economics (Sub. Code: 3041)                F.M.: 20 

Time: 40 minutes                                                                                P.M.: 8 

Set A (Morning Shift) 
 

Answer all the questions  

1. Define fixed cost with example.               [1] 

2. Define short run marginal cost with formula.             [1] 

3. Consider the following table and give answer of the questions given 

below the table 

Level of Output TFC TVC TC 

0 20 0 - 

1 - 15 - 

2 - 24 - 

3 - 30 - 

4 - 40 - 

5 - 55 - 

6 - 90 - 

a. Complete the table                [1] 

b. Draw TFC, TVC and TC curves              [1] 

c. State the nature of TFC, TVC and TC curves            [3] 

4. Explain the various features of monopoly market.            [5] 

5. How equilibrium price and outputs are determined under perfect 

competition market in short run? Explain.             [8] 

 

*** 

 

 

 

 

 

 

 

 
 

 
 

Second Unit Test - 2079 
 

Grade: XII            Subject: Economics (Sub. Code: 3041)                F.M.: 20 

Time: 40 minutes                                                                                P.M.: 8 

Set B (Morning Shift) 
 

Answer all the questions  

1. Define variable cost with example.              [1] 

2. Define short run total cost with formula.             [1] 

3. Consider the following table and give answer of the questions given 

below the table 

Level of Output TC AC MC 

0 20 - - 

1 35 - - 

2 44 - - 

3 50 - - 

4 60 - - 

5 75 - - 

6 110 - - 

a. Complete the table                [1] 

b. Draw AC and MC curves               [1] 

c. State the relationships between AC and MC curve            [3] 

4. Explain the features of perfect competition market.            [5] 

5. How equilibrium price and outputs are determined under monopoly 

market in short run? Explain.               [8] 

 
*** 

 

 

 

 

 

 

 



 

 
 

 
 

Second Unit Test - 2079 
 

Grade: XII            Subject: Economics (Sub. Code: 3041)                F.M.: 20 

Time: 40 minutes                                                                                P.M.: 8 

Set A (Day Shift) 
 

Answer all the questions  

1. Define accounting cost.                [1] 

2. Why average fixed cost curve (AFC) falls down continuously?           [1] 

3. Consider the following table and give answer of the questions given 

below the table 

Level of Output TFC TVC TC 

0 10 0 - 

1 - 20 - 

2 - 30 - 

3 - 35 - 

4 - 45 - 

5 - 65 - 

6 - 95 - 

a. Complete the table                [1] 

b. Draw TFC, TVC and TC curves              [1] 

c. State the nature of TFC, TVC and TC curves                       [3] 

4. Describe the various characteristics of monopoly market in detail.  [5] 

5. Explain short run equilibrium of firm and industry under perfect 

competition market.                [8] 

 

*** 

 

 

 

 

 

 

 

 

 
 

 
 

Second Unit Test - 2079 
 

Grade: XII            Subject: Economics (Sub. Code: 3041)                F.M.: 20 

Time: 40 minutes                                                                                P.M.: 8 

Set B (Day Shift) 
 

Answer all the questions  

1. Define economic cost.                [1] 

2. Distinguish between fixed cost and variable cost.            [1] 

3. Consider the following table and give answer of the questions given 

below the table 

Level of Output TC AC MC 

0 60 - - 

1 82 - - 

2 102 - - 

3 120 - - 

4 160 - - 

5 220 - - 

6 300 - - 

a. Complete the table                [1] 

b. Draw AC and MC curves               [1] 

c. State the relationships between AC and MC curve            [3] 

4. Describe the various characteristics of perfect competition market in 

detail.                    [5] 

5. Explain short run equilibrium of firm or industry under monopoly 

market.                  [8] 

*** 

 

 



 

SECOND UNIT TEST - 2079 

 
 
 
 
 
 
 
 
 
 
 
 
 

Candidates are required to give their answers in their own words as far as 
practicable. The figures in the margin indicate full marks. 

 
GROUP – A 

Multiple Choice questions.       [2x1=2] 
1.  A variable that stores the memory address of another variable is 
 A.  Structure    B.  Union 
 C.  Function    D.  Pointer  
2.  What is the output of C program? 

  void main( ) 

 { 

 int b=25; 

 // b memory location = FF44 

  int *p; 

  p=&b; 

 printf(“%d %d”, &b, p); 

 } 

 A. 25  25     B. 25  FF44   

 C. FF44  FF44    D. FF44  25 

 
GROUP - B 

 
Short answer questions.       [2x5=10] 
Attempt all the questions: 
3.  Explain fscanf() and fprintf() functions with syntax and example. 
4.   WAP to input Roll, Name, Marks and display them using structure. 
 

GROUP - C 
Long answer questions.       [1x8=8] 
Attempt all the questions: 
5. WAP to input Employee id, Name, Post, Salary of 50 employees and write 

them in “employee.txt” file. 
 

***Best of Luck*** 

 
 

Grade: XII [Mor.]               F.M.: 20 
Time: 40 min.              P.M.: 8 

Subject: Computer Science (Set-A)  

 



 
 
 
 

 

SECOND UNIT TEST - 2079 

 
 
 
 
 
 
 
 
 
 
 
 
 

Candidates are required to give their answers in their own words as far as 
practicable. The figures in the margin indicate full marks. 

 
 

GROUP – A 
Multiple Choice questions.              [2x1=2] 
1.  Which one of the following is correct syntax: 

A. File *p;   B.  FILE *p; 
C.  File = *p;  D. FILE = *p; 

2.  Which function is used to read data from a file. 
A. fputs()   B. scanf() 
C. fscanf()   D. fprintf() 

 
 

GROUP - B 
 

Short answer questions.           [2x5=10] 
Attempt all the questions: 
3.  Differentiate between structure and union. 

4.  WAP to store Roll, Name, Total marks in “student.txt” file. 
 

 
GROUP – C 

Long answer questions.              [1x8=8] 
Attempt all the questions: 
5.  Define pointer. WAP to input Roll, Name and Address and Age of 50 students 

and display them properly using structure. 
 
 

***Best of Luck*** 

 

Grade: XII [Mor.]               F.M.: 20 
Time: 40 min.              P.M.: 8 

Subject: Computer Science (Set-B)  

 



 

 

SECOND UNIT TEST - 2079 

 
 
 
 
 
 
 
 
 
 
 
 

Candidates are required to give their answers in their own words as far as 
practicable. The figures in the margin indicate full marks. 

 
 

GROUP – A 
Multiple Choice questions.       [2x1=2] 
1.  If we write data in same file again and again, it will write data. 

 a) From the beginning  b) From the ending point 

 c) It will not write   d) None of the above 

 

2.  Choose a correct statement about C structure elements? 
a) Structure elements are stored on random free memory locations 
b) structure elements are stored in register memory locations 
c) structure elements are stored in contiguous memory locations 
d) None of the above 

 
GROUP - B 

 
Short answer questions.       [2x5=10] 
Attempt all the questions: 
3. Differentiate between structure and union. 
4.  WAP to display name, address and age of students from “info.txt” file. 
 
 

GROUP - C 
Long answer questions.       [1x8=8] 
Attempt all the questions: 
5. C program to read records of three different students in structure having 

member roll, name and marks and displaying it. 
 

***Best of Luck*** 

 

Grade: XII [Day]               F.M.: 20 
Time: 40 min.              P.M.: 8 

Subject: Computer Science (Set-A)  

 



 

 

SECOND UNIT TEST - 2079 

 
 
 
 
 
 
 
 
 
 
 
 

Candidates are required to give their answers in their own words as far as 
practicable. The figures in the margin indicate full marks. 

 
 

GROUP – A 
Multiple Choice questions.       [2x1=2] 
1.  While opening file in an append mode, it writes/stores data 

a) At the end   b) At the beginning 

c) It does not write data  d) None of the above 

 

2.  Size of a union is determined by size of the 

a) First member in the union b) Last member in the union   

 c) Biggest member in the union d) sum of the sizes of all members 

 

GROUP - B 
 

Short answer questions.       [2x5=10] 
Attempt all the questions: 
3. What is pointer? Explain the operator used in pointer with example. 
4.  WAP to store the name, address and salary of employee into “new.txt” file. 
 
 

GROUP - C 
Long answer questions.       [1x8=8] 
Attempt all the questions: 
5. Program to input roll number, name and age of 10 students. Then display the 

records whose age is greater than 15 using structure. 
 

***Best of Luck*** 

 

Grade: XII [Day]               F.M.: 20 
Time: 40 min.              P.M.: 8 

Subject: Computer Science (Set-B)  

 



    

låtLo PsfO k/LIff–@)&( 

sIff  M !@ 

ljifo M g]kfnL                 laxfgL ;d"x                k"0ff{ª\s M @) 

;do M $) ldg]6                           pQL0ff{ª\s M * 

;]6–P 

 

!=   /]vfª\lst zAbsf] kbju{ klxrfg u/L n]Vg'xf];\ M -#_ 

 cfbz{ ljrf/sf] pTkfbg Tofu / ;dk{0f;Fu ;DalGwt x'G5 . xfd|f 

x/]s sd{ pT;u{tkm{ s]lGb|t xf]pg\ . ltdL d]/f ljrf/df ;b}j ljZj:t 

5f} eg] cfˆgf sn'lift efjgf Tofu . 

 

@=  tnsf] cg'R5]baf6 rf/ rf/cf]6f tT;d / cfuGt's zAb klxrfg u/L 

n]Vg'xf];\ M -$_ 

 zfGt jftfj/0f / xf]6]nsf] a;fO, a;sf] ofqf tyf /]:6'/]G6sf] vfgfn] 

o;k6s e|d0f /dfOnf] eof] . k|s[ltsf] kmf]6f] 5ftLdf 6fF;]/ lxF8]kl5 

;x/ klg /dfOnf] g} x'g] /x]5 .  

 

#=  …dlxnf lx+;f / /f]syfdsf pkfoÚ zLif{sdf !%) zAbdf g36fO{ 

l6Kk0fL n]Vg'xf];\ .  -%_ 

  

$=  …Ps lrxfgÚ pkGof;df tfTsfnLg ;dfhsf] s]s:tf] oyfy{ lrq0f 

ul/Psf] 5, ;dLIff ug'{xf];\  .   -*_ 

 

***** 

 

   

låtLo PsfO k/LIff–@)&( 

sIff  M !@ 

ljifo M g]kfnL               laxfgL ;d"x                k"0ff{ª\s M @) 

;do M $) ldg]6                           pQL0ff{ª\s M * 

;]6–aL 

 

!=   /]vfª\lst zAbsf] kbju{ klxrfg u/L n]Vg'xf];\ M -#_ 

 oxfF s;}n] c¿sf af/]df rf;f] /fVb}g . ;+;f/df cfˆgf] lrGtf ug]{ 

s]jn cfkm}Fn] xf] . oxfF rflxF d]/f ljrf/df ;xdt x'g'x'G5 eg] clxn] g} 

lrGtg ug{ yfNg'xf];\ cGoyf ;don] xfdLnfO{ oxLF 5f]8\g] 5 .    

 

@=  tnsf] cg'R5]baf6 rf/ rf/cf]6f tb\ej / cfuGt's zAb klxrfg u/L 

n]Vg'xf];\ M -$_ 

 cr]n hf];'s} dfG5]n] xftdf df]afOn af]s]/ km];a's rnfPsf] b]lvG5 . 

OG6/g]6 / :df6{kmf]gsf] ;'ne pknAwtfn] ;a}sf] lhGbuL ;xh aGb} 

uPsf] 5 oBlk b'?kof]usf] vt/f klg 5 . 

 

#=  …;fj{hlgs oftfoftdf afn dhb'/sf] k|of]uÚ zLif{sdf !%) zAbdf 

g36fO{ l6Kk0fL n]Vg'xf];\ .  -%_ 

  

$=  …Ps lrxfgÚ pkGof;sf cfwf/df uf]bQk|;fb / /fdaxfb'/sf] rfl/lqs 

ljz]iftfsf] t'ngf ug'{xf];\  .   -*_ 

 

***** 



    

låtLo PsfO k/LIff–@)&( 

 

sIff  M !@ 

ljifo M g]kfnL                 lbjf ;d"x                  k"0ff{ª\s M @) 

;do M $) ldg]6                           pQL0ff{ª\s M * 

;]6–P 

 

!=   /]vfª\lst zAbsf] kbju{ klxrfg u/L n]Vg'xf];\ M -#_ 

 k|To]s dfG5]sf] afFRg] tl/sf eg]sf] p;sf] ;f]r xf] . p;n] oxL 

ljlzi6 ljz]iftfsf sf/0fn] cfk"mnfO{ k[ys\ agfPsf] x'G5 . ltdL s'g} 

gjLg l;h{gf ug{ ;Sb}gf} eg] cfˆgf af/]df /fd|/L ;f]r . 

 

@=  tnsf] cg'R5]baf6 rf/ rf/cf]6f tT;d / tb\ej zAb klxrfg u/L 

n]Vg'xf];\ M -$_ 

 clxn] ljsf; eg]sf] ljBfno, :jf:Yos]Gb| / ;8s k"jf{wf/sf] lgdf{0f 

ug'{ xf] . cfˆgf] vfFrf] k"/f ug{ csf]{ b]zdf hfg'kg]{ cj:yfsf] cGTo 

ug'{ klg ;dosf] dfu xf] .   

 

#=  …g]kfnL ;dfhdf afnljjfxsf] s'k/Dk/fÚ zLif{sdf !%) zAbdf g36fO{ 

l6Kk0fL n]Vg'xf];\ .  -%_ 

  

$=  …Ps lrxfgÚ pkGof;sf cfwf/df lzjgf/fg / ci6gf/fgsf rfl/lqs 

ljz]iftf t'ngf ug'{xf];\ .  -*_ 

 

***** 

 

   

låtLo PsfO k/LIff–@)&( 

sIff  M !@ 

ljifo M g]kfnL                lbjf ;d"x                  k"0ff{ª\s M @) 

;do M $) ldg]6                           pQL0ff{ª\s M * 

;]6–aL 

 

!=   /]vfª\lst zAbsf] kbju{ klxrfg u/L n]Vg'xf];\ M -#_ 

 pgLx¿ lgs} dfly k'lu;s]sf lyP . of] s'/f c¿n] kQf] kfP ls 

kfPgg\ t/ d}n] yfxf kfPsf] lyPF . 9'ª\ufdfly r9]/ x]bf{ pgLx¿n] 

eGHofª sfl6;s]sf lyP . 

 

@=  tnsf] cg'R5]baf6 rf/ rf/cf]6f tT;d / cfuGt's zAb klxrfg u/L 

n]Vg'xf];\ M -$_ 

 ltdL lgoldt sIffdf a; / lstfa lemsL k9 . lzIfsn] k9fPsf] 

ljifo Wofg b]pm / a|]s ePkl5 Sofˆ6]l/ofdf uP/ dd, rfpldg cflb 

ld7f] vfhf vfpm .  

 

#=  …g]kfnL cy{tGqdf /]ld6\ofG;sf] k|efjÚ zLif{sdf !%) zAbdf g36fO{ 

l6Kk0fL n]Vg'xf];\ .  -%_ 

  

$=  …Ps lrxfgÚ pkGof;n] s]s:tf] k|ultzLn ljrf/ k|:t't u/]sf] 5, 

j0f{g ug'{xf];\  .   -*_ 

 

***** 



 
 

 
 

Second Unit Test - 2079 
 

Grade: XII            Subject: Com. English (Sub. Code: 0041)           F.M.: 20 

Time: 40 minutes                                                                                P.M.: 8 

Set A (Morning Shift) 
 

 

Answer all the questions  

  

1. Answer in short.         (2x2=4) 

a. Why did the students ignore the bookshelves in the 1990s?                   

(On Libraries) 

b. Explain the lines with reference to the context. 

"We are not wholly bad or good 

Who live our lives under Milk Wood."  (Every Morning I Wake) 

 

2. Is Rakesh a devoted son? Give reasons.                                     (5) 

 

3. Write a review of a book which you have read recently.                        (7) 

 

4. Do as instructed in the brackets.        (4x1=4) 

a. An average American earns (considerably/high) than an average Nepali. 

(Complete the sentence correctly) 

b. The principal said, “You can phone from my office, Rita.” (Change this 

sentence into indirect speech) 

c. They have been waiting for three years. (Make a wh-question) 

d. Let’s play once again, …………?  (Add an appropriate tag question)  

 

*** 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 
 

Second Unit Test - 2079 
 

Grade: XII            Subject: Com. English (Sub. Code: 0041)           F.M.: 20 

Time: 40 minutes                                                                                P.M.: 8 

Set B (Morning Shift) 
 

 

Answer all the questions  

  

1. Answer in short.         (2x2=4) 

a. How did the neighbours help the young couple in the kitchen garden? 

(Neighbours) 

b. Explain the lines with reference to the context.  

“The steeples swam in amethyst, 

The news like squirrels ran.” (A Day) 

 

2. What is the cause of conflict in Mrs. Baroda’s mind? What role does Mrs. 

Baroda ‘being a respectable woman’ play in the story? (A Respectable 

Woman)                                      (5) 

 

3. Write a letter to the editor to be published in the daily newspaper suggesting 

the ways of ‘Solving Garbage Problems.’               (7) 

 

4. Do as instructed in the brackets.        (4x1=4)  

a. I think the problem is (far/ complicated) than it seems. (Complete the 

sentence correctly) 

       b.   The headmaster said, “Don’t make any noise, boys.” (Change this             

sentence into indirect speech) 

c. She got the idea from a story. (Make a wh-question) 

d. Let us play once again ………….?  (Add an appropriate tag question) 

 
 

*** 

 

 

 

 

 

 

 

 



 
 

 
 

Second Unit Test - 2079 
 

Grade: XII            Subject: Com. English (Sub. Code: 0041)           F.M.: 20 

Time: 40 minutes                                                                                P.M.: 8 

Set A (Day Shift) 
 

 

Answer all the questions  

1. Answer in short.         (2x2=4) 

a. Why is Gaston surprised with his wife’s expression towards the end of the    

story? (A Respectable Woman) 

b. Why was Rakesh’s success a special matter of discussion in the 

neighbourhood?  (A Devoted Son) 

 

2. Write down the plot of the play “A Matter for Husband.”              (5) 

 

3. Write a review of a film which you have watched recently.             (7) 

 

4. Do as instructed in the brackets.        (4x1=4) 

a. Your handwriting is not legible. Can you write (a bit/ neat)? 

(Complete the sentence correctly) 

b. Sharmila said, “Don’t give me the book, please.”  (Change this sentence 

into indirect speech) 

c. My mother made a delicious bread yesterday. (Make a wh-question) 

d. Listen carefully, …………?  (Add an appropriate tag question)  
 

 

*** 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 

 
 

Second Unit Test - 2079 
 

Grade: XII            Subject: Com. English (Sub. Code: 0041)           F.M.: 20 

Time: 40 minutes                                                                                P.M.: 8 

Set B (Day Shift) 
 

 

Answer all the questions  

1. Answer in short.                     (2x2=4) 

a. How is marriage an institution? (Marriage as a Social Institution) 

b. Is Earnest Young Woman convinced by the argument of Famous Actress? 

(A matter for Husband) 

 

2. Justify the title “A Devoted Son”.                       (5) 

 

3. Write a letter to the editor to be published in the daily newspaper suggesting 

the ways of ‘Stress Management.’                         (7) 

 

4. Do as instructed in the brackets.       (4x1=4) 

a. The warmer the weather the (good) I feel. (Complete the sentence 

correctly) 

b. She spoke on the telephone, “Where have you been these days?” (Change 

this sentence into indirect speech) 

c. They were talking about the new movie. (Make a wh-question) 

d. There are lots of people here, ………….?  (Add an appropriate tag 

question) 
 

*** 

 

 

 

 

 

 

 

 



 
 

  Second Unit Test-2079 
 

Grade: XII                Subject: Mathematics (Sub. Code: 0081)   F.M.: 20 

Time: 40 minutes                                                                                        P.M.: 8 
 

Set-A 
Attempt all questions    

Rewrite the correct option in your answer sheet            [3x1=3]

  

1) i)  Which one of the following is true?       

a)  𝑟! 𝑝(𝑛, 𝑟) = 𝑐 (𝑛, 𝑟)       

b) 
𝑐(𝑛,𝑟)

𝑟!
= 𝑝(𝑛, 𝑟)           

c) 𝑝 (𝑛, 𝑟) = 𝑐(𝑛, 𝑟) 

d) 𝑐 (𝑛, 𝑟) × 𝑟! = 𝑝(𝑛, 𝑟) 

 ii) If  9C2r = 9C3r-1 then the value of r is 

a) 3  b) 2  c) ½  d) 0 

 iii) In the expansion of (𝑥2 −
2

𝑥3) the independent of x term is 

a) t6  b) t5  c) t7  d) t8 

 

2) a) Define rational fraction. In which condition rational fraction becomes 

improper rational fraction?                         [2] 

b) Evaluate: ∫
𝑑𝑥

𝑎+𝑏𝑐𝑜𝑠𝑥
;   𝑎2 < 𝑏2                          [3] 

 

3) Three married couples are to be seated in a row having six seats in a cinema hall. 

If spouses are to be seated next to each other, in how many ways can they be 

seated? Find also the number of ways of their seating if all the ladies sit together. 

                                     [3] 
 

4) Evaluate: ∫
𝑑𝑥

(𝑥+1)2(𝑥−2)2                         [4] 

 

5) A group consists of 4 girls and 7 boys. In how many ways can a team of 5 members 

be selected if the team has 

i) No girls                  [1] 

ii) At least one boy and one girl                         [2] 

iii) At least three girls.                  [2] 
 

***** 

 
 

  Second Unit Test-2079 
 

Grade: XII                 Subject: Mathematics (Sub. Code: 0081)   F.M.: 20 

Time: 40 minutes                                                                                        P.M.: 8 
 

Set-B 
Attempt all questions  

Rewrite the correct option in your answer sheet            [3x1=3]
   

1) i)  The number of team in the expansion of  (𝑥 +
1

2𝑥
)

5
 is      

a) 5  b) 6  c) 7  d) 8  
 

 ii) In an examination, a student has to pass in each of the 4 subjects. In how many 

ways can be fail? 

a) 16  b) 14  c) 15  d) 17 
 

 iii) There are 4 letter boxes in a post office. In how many ways can a man post 6 

distinct letters? 

a) 36  b) 16  c) 4096  d) 1296 
 

2) a) Define rational fraction. In which condition rational fraction becomes proper 

fraction.                                               [2] 

b) Evaluate: ∫
𝑑𝑥

𝑎+𝑏𝑐𝑜𝑠𝑥
;   𝑎2 > 𝑏2                          [3] 

 

3) a) In a class, there are 27 boys and 14 girls. The teacher wants to select 1 boy and 

1 girl to represent the class for a function. In how many ways can the teacher 

make this selection?                                             [2] 

b) In how many ways 3 mathematics books, 4 history books, 3 chemistry books 

and 2 biology books can be arranged on a shelf so that all books of the same 

subjects are together?                            [3] 
 

4) Evaluate: ∫
2𝑥3+6𝑥

𝑥4+3𝑥2−4
 𝑑𝑥                         [4] 

 

5) In how many ways can a football team of 11 players be selected from 16 players? 

How many of them will 

i) Include 2 particular players?       

ii) Exclude 2 particular players?                        

           [1+1+1] 
 

***** 



 
 

 
 

Second Unit Test-2079 

Grade: XII                   Subject: Accounting (Sub. Code:1041)                 F.M.: 20 

Time: 40 minutes                                                                                  P.M.: 8 
 

Set-A (Morning Shift) 
 

Attempt all the questions. 
 

  Group A (Very short answer question)                    [2 x 1 = 2] 

 

1. Define share. 

2. What is cumulative preference share? 

  

  Group B (Short answer questions)                 [2x 5 = 10] 

 

3. Rairang Co. Ltd. Issued 4,000 shares of Rs. 100 each as Rs. 30 on application, Rs. 50 

on allotment (including premium) and Rs. 20 on first & final call. All the money was 

duly received. A shareholder, holding 300 shares, paid the entire money on allotment. 

 Required: Journal entries for allotment and calls.          [2.5 + 2.5 = 5] 

4. A. Kalika Co. Ltd. forfeited 400 shares of Rs.10 each, issued at 10% discount, due to 

non-payment of allotment Rs. 4 and call of Rs. 2 per share. Out of these, 300 shares 

were re-issued as fully paid at Rs. 9 per share.  

  Required: Journal entries for:   

            (a) Forfeiture    (b) Re-issue     (c) Transfer           [1+1+1=3] 

  

B. Welcome Co. Ltd. purchased the business of Bye Bye Co. Ltd. with the 

following assets and liabilities:  

Fixed assets                   4,00,000         Creditors       40,000           

Prepaid rent                   50,000              

 The company issued the required shares of Rs.100 each at 10% premium for the 

payment agreed value of Rs. 4,40,000.  

Required: Entries for purchase of assets and liabilities and issue of shares for the 

payment.                            [2] 
 

     Group C (Long answer questions)   [1x 8= 8] 

 

5.  Simara Co. Ltd. issued 6,000 shares of Rs. 10 each, payable as Rs. 3 on application, 

Rs. 5 on allotment and rest on first & final call. Company received the applications for 

8,000 shares. BoDs of the company decided to allot for 1,000 shares in full and 

remaining applications on pro-rata basis. All the money was duly received except a 

shareholder, holding 400 shares, failed to pay on allotment and call under pro-rata 

group. 

 Required: Journal entries for application, allotment and call.  [3+3+2=8] 

***** 

 

 

 

 
 

 
 

Second Unit Test-2079 

Grade: XII                   Subject: Accounting (Sub. Code:1041)                 F.M.: 20 

Time: 40 minutes                                                                                  P.M.: 8 
 

Set-B (Morning Shift) 
 

Attempt all the questions. 
 

  Group A (Very short answer question)                          [2 x 1 = 2] 

 

1. Define equity share. 

2. What is share capital?  

 

                                      Group B (Short answer questions)                                 [2x 5 = 10] 

 

3. Sunsari Co. Ltd. Issued 10,000 shares of Rs. 10 each, payable as Rs. 3 on application, 

Rs. 4 on allotment (including premium) and Rs. 3 on first & final call. All the money 

was duly received except a shareholder, holding 300 shares, failed to pay allotment and 

call. 

Required: Journal entries for allotment and calls.          [2.5 + 2.5 = 5] 

4. A. Bheri Co. Ltd. forfeited 1,000 shares of Rs.100 each, issued at 10% premium, due to 

non-payment of call of Rs. 20 per share. Out of these, 400 shares were re-issued as 

fully paid at Rs. 90 per share.  

  Required: Journal entries for:   

            (a) Forfeiture    (b) Re-issue     (c) Transfer                  [1+1+1=3] 

  

B. Terai Co. Ltd. purchased the business of Pahadi Co. Ltd. with the following 

assets and liabilities:  

Land and building  Rs. 700,000 Sundry debtors  Rs. 200,000 

Sundry creditors        300,000 Furniture and fittings       300,000 

The company issued 9,000 equity shares of Rs. 100 each at 10% discount for the 

payment of purchase consideration. 

Required: Entries for purchase of assets and liabilities and issue of shares for the 

payment.                             [2] 
 

    Group C (Long answer questions)    [1x 8= 8] 

 

5.  Kristal Co. Ltd. issued 5,000 shares of Rs. 100 each, payable as Rs. 30 on application, 

Rs. 40 on allotment and rest on first & final call. Company received the applications 

for 8,000 shares. BoDs of the company decided to reject for 1,000 shares and to allot 

for remaining applications on pro-rata basis. All the money was duly received except a 

shareholder, holding 400 shares, failed to pay on allotment and call under pro-rata 

group. 

 Required: Journal entries for application, allotment and call.  [3+3+2=8] 

***** 

 

 



 
 

 
 

Second Unit Test-2079 

Grade: XII                   Subject: Accounting (Sub. Code:1041)                 F.M.: 20 

Time: 40 minutes                                                                                  P.M.: 8 
 

Set-A (Day Shift) 
 

Attempt all the questions. 
 

  Group A (Very short answer question)                      [2 x 1 = 2] 
 

1. Define authorized share capital. 

2. What is redeemable preference share?  

 

                                         Group B (Short answer questions)                              [2x 5 = 10] 
 

3. Makalu Co. Ltd. issued 15,000 shares of Rs. 100 each payable as Rs. 30 on application, 

Rs. 50 on allotment (including premium) and rest on first & final call. All the money 

was duly received except a shareholder, holding 700 shares, failed to pay allotment and 

call. 

Required: Journal entries for allotment and calls.          [2.5 + 2.5 = 5] 

4. A. Suvatara Co. Ltd. forfeited 2,000 shares of Rs.10 each, issued at 10% discount, due 

to non-payment of allotment of Rs. 4 and call of Rs. 2 per share. Out of these, 1,200 

shares were re-issued as fully paid at Rs. 9 per share.  

  Required: Journal entries for:   

            (a) Forfeiture    (b) Re-issue     (c) Transfer          [1+1+1=3] 
  

B. Aaditya Co. Ltd. purchased the business of Arun Co. Ltd. with the following 

assets and liabilities: 

Plant & machinery    5,00,000          Sundry creditors       100,000          

Inventory       50,000 Other fixed assets        50,000          

  The company issued the required shares of Rs.100 each at 10% premium for the 

payment of purchase consideration Rs. 5,50,000.  

Required: Entries for purchase of assets and liabilities and issue of shares for the 

payment.                             [2] 
 

              Group C (Long answer questions)    [1x 8= 8] 

 

5.  Simara Co. Ltd. issued 30,000 shares of Rs. 100 each at 10% premium, payable as Rs. 

40 on application, Rs. 50 on allotment (including premium) and rest on first & final 

call. Company received the applications for 35,000 shares. BoDs of the company 

decided to allot as follows: 

For 10,000 shares  100% 

For  3,000 shares   Rejected  

For rest    Pro-rata  

 All the money was duly received except a shareholder, holding 1,000 shares, failed to 

pay on allotment and call under pro-rata group. 

 Required: Journal entries for application, allotment and call.  [3+3+2=8] 

***** 

 
 

 
 

Second Unit Test-2079 

Grade: XII                   Subject: Accounting (Sub. Code:1041)                 F.M.: 20 

Time: 40 minutes                                                                                  P.M.: 8 
 

Set-B (Day Shift) 
 

Attempt all the questions. 
 

                         Group A (Very short answer question)                                  [2 x 1 = 2] 
 

1. Define issued share capital. 

2. What is preference share? 

 

                        Group B (Short answer questions)                                        [2x 5 = 10] 
 

3. Lhotse Co. Ltd. issued 5,000 shares of Rs. 10 each payable as Rs. 3 on application, Rs. 

4 on allotment and rest on first & final call. All the money was duly received. A 

shareholder, Rohan, holding 350 shares, paid the entire his dues money on allotment. 

Required: Journal entries for allotment and calls.          [2.5 + 2.5 = 5] 

4. A. Mahakali Co. Ltd. forfeited 1,800 shares of Rs.100 each, issued at 10% premium 

and called up Rs. 80, due to non-payment of allotment of Rs. 50 including premium. 

Out of these, 1,000 shares were re-issued as fully paid at Rs. 70 per share.  

  Required: Journal entries for:   

            (a) Forfeiture    (b) Re-issue     (c) Transfer          [1+1+1=3] 

  

B. Suvan Co. Ltd. purchased the business of Aaroh Co. Ltd. with the following 

assets and liabilities: 

Business premises 6,00,000      Accounts receivable  30,000 

  Bank loan 1,80,000        

  The company issued the shares of Rs.100 each at 10% discount for the payment of 

purchase consideration Rs. 450,000. 

 Required: Entries for purchase of assets and liabilities and issue of shares for the 

payment.                             [2] 
 

                    Group C (Long answer questions)                                       [1x 8= 8] 

 

5..   Sungava Co. Ltd. issued 9,000 shares of Rs. 100 each at 10% discount, payable as Rs. 

30 on application, Rs. 40 on allotment and rest on first & final call. Company received 

the applications for 19,000 shares. BoDs of the company decided to allot as follows: 

For 5,000 shares   Full 

For 4,000 shares   Nil  

For 10,000 shares  40%  

 All the money was duly received except a shareholder, holding 400 shares, failed to 

pay on call under pro-rata group. 

 Required: Journal entries for application, allotment and call.  [3+3+2=8] 

***** 


